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�������: ����	
�� II (�
	����
��) 
 

�
���� 
� I ������
��� (������� ������ 2013/14) 
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�
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����
��
� �
�
�? 
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� �� �������� 
���
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�
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�
�
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�
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���
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�
�
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�
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�
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�
�. 

10. �

� �� �������� ���	
�� �
�
� � ��

������ 
������
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�
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�
�
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�
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13. �
 ����
� �
��������� ������������ ��
��������
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���
�
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�
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�������� ��	��� � 
��
��� ����
���� 
���
�
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���
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���
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����� �����
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� ��
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��
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����
���� ���
 
���
�
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� �� �������� ����
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����� �����
 �
� ����
����� ��� � 


� ��
�� 
��
��
 

����
���
 
���
�
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16. �������
�� ������ � �������� ��
��� ��	��� 
����� �����
 
��� �� ����� �
� 

����
����� ���. 
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��� ���	
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����� �����
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����� ���. 
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�
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��
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���
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��������� ���-

��������� ����
�
 
����� �����
? 
 

 

 


����
 
� ��
����� I ������
���� 
 

1. ����
�� �
�
� � � �
��� �� 	
�
�� ����
���
�
: 
 

x = 3t,  y=4t-3t
2
,  (x, � � m, t � s); 

 


) �
����
�� ��
��
������ �
�
�, ���

	
�� ��� ����!
� � ������
� t1 = 2/3 s � 

�������� ������

 t2 > 0 

�
 ��
 ��������
 ��� Ox, 

�) �
�� ��	��� � ���	
�� �
�
� M � ��������
 t1 �  t2, 

�) �������� ����������
 
������ ���
�� �
�
� � � ��������
 t1 �  t2. 

 

2. ����
�� �
�
� � � �
��� �� 	
�
�� ����
���
�
: 
 

x = 2t,  y=-8t
2
  (x,y � m, t � s ); 

 


)  �
����
�� ������ ���
�� �
�
�, 

�)  �
�� ��	��� � ���	
�� �
�
� � ������
� t1 = 1s, 

�) �������� �
�������
��� � ����
��� ���	
��, 

� � ����������
 
������ 

��
��
������ �
�
� � ������
� t1. 
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3. ����
�� �
�
� � � �
��� �� 	
�
�� ����
���
�
: 
 

x =-sin t,  y=cos t  (x,y � m, t � s ); 
 


) �������� ���
�� �
�
�, �
����
�� �� � �������� ����!
� �1 �
�
� � � ������
� 

t1 = π s, 

�) �������� ��	��� � ���	
�� �
�
� � � ������
� t1, 

�) �������� �
�������
��� � ����
��� ���	
�� �
�
� � � ������
� t1. 

 

4. ����
�� �
�
� � � �
��� �� 	
�
�� ����
���
�
: 
 

x =4 cos t,  y=3 sin t  (x,y � m, t � s ); 
 


) �������� ���
�� �
�
�, �
����
�� �� � �������� ����!
� �1 �
�
� � � ������
� 

t1 = π s, 

�) �������� ��	��� � ���	
�� �
�
� � � ������
� t1, 

�) �������� �
�������
��� � ����
��� ���	
�� �
�
� � � ������
� t1 � �������-

���
 
������ ���
�� �
�
� � ����� ������
�. 

 
5. �
�� �� 
��
��� ����
���� 
���
�
 �
�
�: 
 

x =2 sin t,  y=1+cos
2
t  (x,y � m, t � s ); 

 


) �������� ���
�� �
�
� � �
����
�� ��, 

�) �������� ��	���, ���	
�� � ����������
 
������ ���
�� �
�
� � ������
� t0 = 0. 

 

6. ����
�� �
�
� � �
�� �� � ���
���� 
������
�
�
 ����
���
�
: 
 

r =be
kt
,  � = kt; 

 

���� �� b>0 � k>0 
����
���� ��������. "�������: 


) ������ ���
�� �
�
�, 

�) ��	���, ���	
�� � ���������
 
������ ���
�� �
�
� � ���
���� �����
 r. 

 

7. #�������� �� 
���� �� ���� 
��� ��
 ����
 ���

	
� �
 �����. #
� �� 
���
�� 

������ �	 ���
 �	 ����!
�
 � � 

� �� ��	��
 
��������
 �����
�
 � �
�
�� �
 

	

���� 
2

07,0 tv =�  ( v�  � m/s
2
,  t � s), �������� ��	��� � ���	
�� 
��������
 �

��  

12 s �� �����

 
���
�
. 
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8.   ������
� t0 = 0 s ��	��
 
��������
 �	���� v0 = 20 m/s, 
 �������� �� � =2 m/s
2

.  

"�������: 
 


) ��	��� 
��������
 � ������
� t1 = 5 s, 

�) ������� 
��� �� �������� �
 �� 
�������� 	
���
��, 

�) ��� 
��� 
�������� ����� � ����$ 7 s �� �����

 
���
�
. 

 
9.   ��
� 
����
 �
 
����
����� ��������� �� 0,5 m/s

2
, 
��� ��
�� 8 s, 
�������� 

����� ��� ��!��� 164 m. "������� ��	��� 
��������
 �
 �����
� � �
 
�
�� 


����
, 

� � ��� 
��� �� ����� 	
 ����$ 0,6 s �� �����

 
����
. 

 
10. %
�

 �� 
���� �� 
���� ����������

 R = 3 m, 
����
����� ��
���� ���	
���       

� = 2 rad/s
2
. "������� ��	���, �
�������
��� � ����
��� ���	
�� �
�
� � ������
� 

t1 = 2 s, 

� �� �1 = 3 rad/s. ����
� �� �����	���� ���	
�
 � ����� ������
�? 

 

 

11. &�
� �� ����� �� � $���	���
���� �
��� �
� �����

��� ��� � �� 	

���: 
 

3

32

9
t=ϕ (� � rad,  t � s). 

 

"������� ��	��� � ���	
�� �
�
� 
��
 �� �
�
	� �
 �
����
�� r=0,8 m �� ������ 

���, � ������
� t1 = 4/3 s. 

 
 

12. ����
��
 �, ����������

 rA = 25 cm, ���
	� �	 ���
 � ����� �� 
����
����� 

��
����  ���	
��� ��  = 6 rad/s
2
,  ��������  �  
���
�� 	���
��
 B, ����������

   

rB = 50 cm. "�������: 
 


) ��
��� ��	��� 	���
��

 � � B �

�� 2 s �� �����

 
���
�
, 

�) ��
��� ���	
�� 	���
��

 B � ��
� 
���
�
, 

�) ��	��� � ���	
�� �
�
� � �
 ����� 	���
��

 � �

�� 2 s �� �����

 
���
�
. 
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13. ����
��
 I, 
��� �� ����� �
� $���	���
��� ��� 
��	 �
�
� �, �������� �� �
 

	���
��
�� II, 
��� ��, �
��
 �
 ������� III, ����� �
� ��� 
��	 �
�
� B. '
 ����� 

�� �
���
�� ���
� ���
�������� �!� 	
 ���� �� 
�
� ������� ����� C. #
� ������
 

��
��
 ��	��
 	���
��

 I �	���� 8 s
-1

 � ������ ����
�
 

	
�
� �
 �
�� � 

� �� �� 

����� �
 
����
����� ��
���� ��������� �� 1,5 s
-2

, �������� ��	��� � ���	
�� 

����
 C �

�� 2 s �� �����

 
���
�
. ����
� �� � ��� ������
� �����	���� ���	
�
 

�
�
� � �
 ����� 	���
��

 II? 

 

r1 = 100 mm, r2 = 200 mm, r3 = 50 mm 

 

 

14. %���� B ����	
� �� �
 �������
�� 
������ 
��� �� ��!� ����
�� �
� ����
����� 

$���	���
��� ��� �, ������ ������ �� ��
 ����������
 �!��
, 

� ��� �� �
 ����� 

���

	
��. ����� �� ������ � 
���
�� ������ �!��
 C 
��� ��
 
����
���� 

���	
�� �� 0,3 m/s
2
 � ������� ��	��� �� 0,4 m/s, ��������� ������. "�������: 

 


) ���� ����
�
 
����
 	
 ������� �� 2 s, 

�) ��	��� � �������� ����!
�
 ����
 B �

�� 2 s, 

�) ���	
�� �
�
� D 
����
 � �������� ������
�. 

 

 
 

r1 = 15 cm, r2 = 10 cm 


